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Propose reasonable arrow-pushing mechanisms.

Me  picl, (0.1eq)
Y MeOH:DCM = 1:3
MeO H - A
then HCl aq. C14H160
0,
Il 88% 13C.NMR: 199.7, 154.8, 108.3 ppm
Me Me 1) A (3.0 eq.), NiCl, (0.2 eq.) Fe(acac); (0.3eq.) Me

H oTf CrCl» (10.0 eq.), DMSO, rt B PhSiH3 (5.0 eq.)
! 2) DMP (3.0 eq.), DCM, 0°C ~ C24H360 EtOH, 60 °C

Me 83% for 2 steps 91%
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Me OTBDPS

OQ:> 1) NaH, DME, 65 °C, 69%

2) MeMgBr, THF, —78 °C to rt

+

A

3) BF3-OEty, CH,Cl,

> (C21H270, + TBDPS)

Me —78 °C, 59% (2 steps) Hint: In the "H NMR spectrum of A,
no peak was observed between 6.5-4.0 ppm.

MeO OTs

4) TBAF, THF, 70 °C

5) DMP, CH,Cly, rt, 60% (2 steps)
6) LIHMDS, TMSCI, THF, 0 °C

7) Pd(OAc),, O,, DMSO, THF
80 °C, 61% (2 steps)

8) Cul, MeMgBr, THF
—78 to =30 °C, 66%

9) DIBAL-H (>2 equiv), PhMe
100 °C, 77%

10) PIDA, HFIP, 0 °C, 75%

Me MeH

(+)-euphol (20R)
(+)-tirucallol (20S)
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